50, will be treated as malpractice.

aining blank pages.

, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the rem
2. Any revealing of identification

USN

1

a.

Find the rank of the matrix:

Solve by Gauss eliminat;iq\rﬁuzlu'x‘;lethod

2 8%

4 8 13

4

12

2x+y+4z=12 ¢

2r3. 5 in'(gditéé’echelon form and Heﬁéé find its rank. _

Reduce the matrix

4x+ 1ly-z=334

s
a4 8|
Applying Gauss‘el

Solve

Solve

Solve y*+3y +2y=12x"

Ry

dx

3

d’y
dx’ ,

2x + 5y +Qz=52

4

p

—=+y=8€ec X by the method of variation of parameters.

limination method, solve-the system of equations
%@2/

OR

1.0f:2

1g ONE full question frélp

v
i

Max. Marks: 100

4

each module.

(08 Marks)

(06 Marks)

(06 Marks)

(06 Marks)

(06 Marks)

(08 Marks)

(06 Marks)
(06 Marks)

(08 Marks)

(06 Marks)

(06 Marks)
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C.

17MATDIP41

Solve by the method of undetermined coefficients :

y'—4y +4y=¢" (08 Marks)
Module-3
Find the Laplace transforms of sin5t cos2t (06 Marks)
Find the Laplace transforms of (3t + 4y (06 Marks)
sin 26 <<
Express f(t) = : ' Ny
0 t>n LB LE
in terms of unit step function and hence fm& L[f(t)]. (08 Marks)
(06 Marks)
(06 Marks)
(08 Marks)
(08 Marks)
A 3s +7
Find the i v se Laplace transform Qf ——2—3 (06 Marks)
—_ S — y
Solve" y” + 2y’ — 3y =sint, (06 Marks)
A>
Find the inverse Laplage t%psform of
(06 Marks)
(06 Marks)
(08 Marks)

(0S5 Marks)

09 Marks)

&
’

OR

Find the probability that the birth days of 5 persons chosen at random will fall in 12 different
calendar months. (05 Marks)
A box A contains.2 white balls and 4 black balls. Another box B contains 5 white balls and
7 black balls. A‘"’” 11 is transferred from box A to box B. Then a ball is drawn from box B.
Find the probabii y that it is white. (06 Marks)

State and proye Baye s theorem. (09 Marks)
% %k ok ok %

2 of 2




